This is the economical configuration
But If the controller fails, all relays will be off and OUT = MAINS * 2 111
Advantage: Relays consumption is lowest (zero) when the mains voltage is lowest
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‘ 200/205 - 239/245 RLY 1=RLY 2=RLY 3=RLY 4 =ON

MAINS —

RLY_1 \—L@\ 167/171 - 200/205 RLY_1=OFF,RLY_2=RLY_3=RLY_4=0N
RLY_2 \—L@\ 140/143 - 167/171 RLY_1=RLY_2 =0OFF,RLY_3=RLY_4 =ON

RLY_3 Tﬁ 117/120 - 140/143 RLY_1=RLY_2=RLY_3 = OFF, RLY_4 = ON

RLY 4 — > 98/100-117/120 RLY_1=RLY_2=RLY_3=RLY_4 =OFF

?o

RLY 1=RLY 2=RLY 3=RLY_4=OFF
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